



## On harmonic convex functions of three variables and related Hermite-Hadamard inequalities

Muhammad Aslam Noor<sup>a</sup>, Khalida Inayat Noor<sup>a</sup>, Sabah Iftikhar<sup>b</sup>, Muhammad Uzair Awan<sup>c</sup>

<sup>a</sup>COMSATS University Islamabad, Islamabad Pakistan

<sup>b</sup>Xiamen University Malaysia

<sup>c</sup>Government College University, Faisalabad Pakistan

**Abstract.** The main objective of this paper is to extend the notion of harmonic convex functions for three variables. Some associated Hermite-Hadamard type of integral inequalities are also obtained.

### 1. Introduction and Preliminaries

In this section, we discuss some previously known concepts and results. Recall that a function  $f : \Delta = [a, b] \times [c, d] \subset \mathbb{R}^2 \setminus \{0\} \rightarrow \mathbb{R}$  is harmonic convex on  $\Delta$ , if

$$f\left(\frac{ab}{\lambda a + (1-\lambda)b}, \frac{cd}{\lambda c + (1-\lambda)d}\right) \leq (1-\lambda)f(a, c) + \lambda(b, d),$$

for all  $(a, b), (c, d) \in \Delta$  and  $\lambda \in [0, 1]$ .

The co-ordinated harmonic convex functions is defined as:

**Definition 1.1 ([9]).** Consider a rectangle  $\Delta = [a, b] \times [c, d] \subset \mathbb{R}^2 \setminus \{0\}$  with  $a < b$  and  $c < d$ . A function  $f : \Delta = [a, b] \times [c, d] \rightarrow \mathbb{R}$  is said to be harmonic convex function of three variables on the rectangle  $\Delta$ , if

$$f\left(\frac{ab}{\lambda a + (1-\lambda)b}, \frac{cd}{t c + (1-t)d}\right) \leq (1-\lambda)(1-t)f(a, c) + (1-\lambda)t f(a, d) \\ + \lambda(1-t)f(b, c) + \lambda t(b, d),$$

for all  $(a, b), (c, d) \in \Delta$  and  $\lambda, t \in [0, 1]$ .

A function  $f : \Delta = [a, b] \times [c, d] \subset \mathbb{R}^2 \setminus \{0\} \rightarrow \mathbb{R}$  will be called harmonic on the co-ordinates if the partial mappings  $f_y : [a, b] \rightarrow \mathbb{R}$ , defined by  $f_y(u) := f(u, y)$ , and  $f_x : [c, d] \rightarrow \mathbb{R}$ , defined by  $f_x(v) := f(x, v)$ , are harmonic convex for all  $x \in [a, b]$  and  $y \in [c, d]$ . Noor et al. [9] introduced the above mentioned concepts and established some related integral inequalities of Hermite-Hadamard type.

2020 Mathematics Subject Classification. 26D15, 26D10

Keywords. Harmonic convex functions; Harmonic convex functions on the co-ordinates; Hermite-Hadamard type inequality.

Received: 13 September 2017; Accepted: 29 July 2022

Communicated by Dragan S. Djordjević

Corresponding author: Muhammad Uzair Awan

Email addresses: noormaslam@gmail.com (Muhammad Aslam Noor), khalidan@gmail.com (Khalida Inayat Noor), sabah.iftikhar22@gmail.com (Sabah Iftikhar), awan.uzair@gmail.com (Muhammad Uzair Awan)

**Definition 1.2.** Consider a rectangular box  $\Omega = [a, b] \times [c, d] \times [e, f] \subset \mathbb{R}^3 \setminus \{0\}$  with  $a < b$ ,  $c < d$  and  $e < f$ . A function  $g : \Omega = [a, b] \times [c, d] \times [e, f] \rightarrow \mathbb{R}$  is said to be harmonic convex function on  $\Omega$ , if

$$g\left(\frac{ab}{\lambda a + (1-\lambda)b}, \frac{cd}{\lambda c + (1-\lambda)d}, \frac{ef}{\lambda e + (1-\lambda)f}\right) \leq (1-\lambda)g(a, c, e) + \lambda g(b, d, f),$$

for all  $(a, b), (c, d), (e, f) \in \Omega$  and  $\lambda \in [0, 1]$ .

The harmonic convex functions for three variables on a rectangular box is defined as:

**Definition 1.3.** Consider a rectangular box  $\Omega = [a, b] \times [c, d] \times [e, f] \subset \mathbb{R}^3 \setminus \{0\}$  with  $a < b$ ,  $c < d$  and  $e < f$ . A function  $g : \Omega = [a, b] \times [c, d] \times [e, f] \rightarrow \mathbb{R}$  is said to be harmonic convex function on  $\Omega$ , if

$$\begin{aligned} & g\left(\frac{ab}{\lambda a + (1-\lambda)b}, \frac{cd}{\lambda c + (1-\lambda)d}, \frac{ef}{\lambda e + (1-\lambda)f}\right) \\ & \leq (1-\lambda)(1-t)(1-r)g(a, c, e) + (1-\lambda)t(1-r)g(a, d, e) + (1-\lambda)trg(a, d, f) \\ & \quad + \lambda(1-t)(1-r)g(b, c, e) + \lambda(1-t)rg(b, c, f) + (1-\lambda)(1-t)rg(a, c, f) \\ & \quad + \lambda t(1-r)g(b, d, e) + \lambda trg(b, d, f), \end{aligned}$$

for all  $(a, b), (c, d), (e, f) \in \Omega$  and  $\lambda, t, r \in [0, 1]$ .

A function  $g : \Omega = [a, b] \times [c, d] \times [e, f] \subset \mathbb{R}^3 \setminus \{0\} \rightarrow \mathbb{R}$  is said to be harmonic convex function of three variables on a rectangular box  $\Omega$  if for every  $(x, y) \in [a, b] \times [c, d]$ ,  $(x, z) \in [a, b] \times [e, f]$  and  $(y, z) \in [c, d] \times [e, f]$ , the partial mappings

$$\begin{aligned} g_x : [c, d] \times [e, f] &\rightarrow \mathbb{R}, & g_x(v, w) &= g(x, v, w), & x &\in [a, b], \\ g_y : [a, b] \times [e, f] &\rightarrow \mathbb{R}, & g_y(u, w) &= g(u, y, w), & y &\in [c, d], \\ g_z : [a, b] \times [c, d] &\rightarrow \mathbb{R}, & g_z(u, v) &= g(u, v, z), & z &\in [e, f], \end{aligned}$$

are harmonic convex function.

**Example.** One can easily show that the function  $g$  defined by  $f(x, y) = \frac{1}{xyz}$  is harmonic convex function of three variables on rectangular box, but it is not harmonic convex function.

The following simple but important result plays an important role in the derivation of our main results.

**Remark 1.4.** If  $\Omega = [a, b] \times [c, d] \times [e, f] \subset \mathbb{R}^3 \setminus \{0\}$  and consider the function  $h : \left[\frac{1}{b}, \frac{1}{a}\right] \times \left[\frac{1}{d}, \frac{1}{c}\right] \times \left[\frac{1}{f}, \frac{1}{e}\right] \rightarrow \mathbb{R}$  defined by  $h(s_1, s_2, s_3) = g\left(\frac{1}{s_1}, \frac{1}{s_2}, \frac{1}{s_3}\right)$ , then  $g$  is harmonic convex function of three variables on  $[a, b] \times [c, d] \times [e, f]$ , if and only if,  $h$  is convex function of three variables on  $\left[\frac{1}{b}, \frac{1}{a}\right] \times \left[\frac{1}{d}, \frac{1}{c}\right] \times \left[\frac{1}{f}, \frac{1}{e}\right] \rightarrow \mathbb{R}^3$ .

## 2. Main results

In this section, we discuss our main results.

Before we proceed further let us assume that  $\Omega := [a, b] \times [c, d] \times [e, f]$ ,  $a, b, c, d, e, f \in \mathbb{R}$ . In order to prove our main result we first need to prove the following representation theorem.

**Theorem 2.1.** Let  $g : \Omega = [a, b] \times [c, d] \times [e, f] \subseteq \mathbb{R} \setminus \{0\} \rightarrow \mathbb{R}$  be a Lebesgue integrable function on the rectangle box and  $\lambda, t, r \in [0, 1]$ , then

$$\begin{aligned} & \int_0^1 \int_0^1 \int_0^1 g((1-t_1)a + t_1b, (1-t_2)c + t_2d, (1-t_3)e + t_3f) dt_1 dt_2 dt_3 \\ & = \lambda tr \int_0^1 \int_0^1 \int_0^1 g\left((1-t_1)a + t_1((1-\lambda)a + \lambda b), (1-t_2)c + t_2((1-t)c + td), \right. \\ & \quad \left. (1-t_3)e + t_3((1-r)e + rf)\right) dt_1 dt_2 dt_3 \end{aligned}$$

$$\begin{aligned}
 &+ (1-\lambda)tr \int_0^1 \int_0^1 \int_0^1 g((1-t_1)((1-\lambda)a+\lambda b)+t_1b, (1-t_2)c+t_2((1-t)c+td), \\
 &\quad (1-t_3)e+t_3((1-r)e+rf)) dt_1 dt_2 dt_3 \\
 &+ \lambda(1-t)r \int_0^1 \int_0^1 \int_0^1 g((1-t_1)a+t_1((1-\lambda)a+\lambda b), (1-t_2)((1-t)c+td)+t_2d, \\
 &\quad (1-t_3)e+t_3((1-r)e+rf)) dt_1 dt_2 dt_3 \\
 &+ \lambda t(1-r) \int_0^1 \int_0^1 \int_0^1 g((1-t_1)a+t_1((1-\lambda)a+\lambda b), (1-t_2)c+t_2((1-t)c+td), \\
 &\quad (1-t_3)((1-r)e+rf)+t_3f) dt_1 dt_2 dt_3 \\
 &+ (1-\lambda)(1-t)r \int_0^1 \int_0^1 \int_0^1 g((1-t_1)((1-\lambda)a+\lambda b)+t_1b, (1-t_2)((1-t)c+td)+t_2d, \\
 &\quad (1-t_3)e+t_3((1-r)e+rf)) dt_1 dt_2 dt_3 \\
 &+ (1-\lambda)t(1-r) \int_0^1 \int_0^1 \int_0^1 g((1-t_1)((1-\lambda)a+\lambda b)+t_1b, (1-t_2)c+t_2((1-t)c+td), \\
 &\quad (1-t_3)((1-r)e+rf)+t_3f) dt_1 dt_2 dt_3 \\
 &+ \lambda(1-t)(1-r) \int_0^1 \int_0^1 \int_0^1 g((1-t_1)a+t_1((1-\lambda)a+\lambda b), (1-t_2)((1-t)c+td)+t_2d, \\
 &\quad (1-t_3)((1-r)e+rf)+t_3f) dt_1 dt_2 dt_3 \\
 &+ (1-\lambda)(1-t)(1-r) \int_0^1 \int_0^1 \int_0^1 g((1-t_1)((1-\lambda)a+\lambda b)+t_1b, (1-t_2)((1-t)c+td)+t_2d, \\
 &\quad (1-t_3)((1-r)e+rf)+t_3f) dt_1 dt_2 dt_3
 \end{aligned} \tag{1}$$

*Proof.* One can proof by using the technique used in [10].  $\square$

Now we prove Hermite-Hadamard inequality via harmonic convex functions of three variables on rectangular box.

**Theorem 2.2.** Let  $g : \Omega = [a, b] \times [c, d] \times [e, f] \subset \mathbb{R}^3 \setminus \{0\} \rightarrow \mathbb{R}$  be harmonic convex function of three variables on the rectangular box. Then for any  $\lambda, t, r \in [0, 1]$ , we have

$$\begin{aligned}
 g\left(\frac{2ab}{a+b}, \frac{2cd}{c+d}, \frac{2ef}{e+f}\right) &\leq \phi(\lambda, t, r) \\
 &\leq \frac{(ab)(cd)(ef)}{(b-a)(d-c)(f-e)} \int_a^b \int_c^d \int_e^f \frac{g(x, y, z)}{x^2 y^2 z^2} dx dy dz \\
 &\leq \psi(\lambda, t, r) \\
 &\leq \frac{1}{8} \left[ g(a, c, e) + g(a, d, e) + g(a, d, f) + g(b, c, e) + g(b, c, f) \right. \\
 &\quad \left. + g(a, c, f) + g(b, d, e) + g(b, d, f) \right]
 \end{aligned} \tag{2}$$

where

$$\begin{aligned}
 &\phi(\lambda, t, r) \\
 &= \lambda \operatorname{tr} g\left(\frac{2ab}{(2-\lambda)a+\lambda b}, \frac{2cd}{(2-t)c+td}, \frac{2ef}{(2-r)e+rf}\right)
 \end{aligned}$$

$$\begin{aligned}
 &+(1-\lambda)trg\left(\frac{2ab}{(1-\lambda)a+(1+\lambda)b'}, \frac{2cd}{(2-t)c+td'}, \frac{2ef}{(2-r)e+rf}\right) \\
 &+\lambda(1-t)rg\left(\frac{2ab}{(2-\lambda)a+\lambda b'}, \frac{2cd}{(1-t)c+(1+t)td'}, \frac{2ef}{(2-r)e+rf}\right) \\
 &+\lambda t(1-r)g\left(\frac{2ab}{(2-\lambda)a+\lambda b'}, \frac{2cd}{(2-t)c+td'}, \frac{2ef}{(1-r)e+(1+r)f}\right) \\
 &+(1-\lambda)(1-t)rg\left(\frac{2ab}{(1-\lambda)a+(1+\lambda)b'}, \frac{2cd}{(1-t)c+(1+t)d'}, \frac{2ef}{(2-r)e+rf}\right) \\
 &+(1-\lambda)t(1-r)g\left(\frac{2ab}{(1-\lambda)a+(1+\lambda)b'}, \frac{2cd}{(2-t)c+td'}, \frac{2ef}{(1-r)e+(1+r)f}\right) \\
 &+\lambda(1-t)(1-r)g\left(\frac{2ab}{(2-\lambda)a+\lambda b'}, \frac{2cd}{(1-t)c+(1+t)td'}, \frac{2ef}{(1-r)e+(1+r)f}\right) \\
 &+(1-\lambda)(1-t)(1-r)g\left(\frac{2ab}{(1-\lambda)a+(1+\lambda)b'}, \frac{2cd}{(1-t)c+(1+t)td'}, \frac{2ef}{(1-r)e+(1+r)f}\right).
 \end{aligned}$$

and

$$\begin{aligned}
 \psi(\lambda, t, r) = & \frac{1}{8} \left[ \lambda trg(b, d, f) + (1-\lambda)trg(a, d, f) + \lambda(1-t)rg(b, c, f) + \lambda t(1-r)g(b, d, e) \right. \\
 & + (1-\lambda)(1-t)rg(a, c, f) + (1-\lambda)t(1-r)g(a, d, e) + \lambda(1-t)(1-r)g(b, c, e) \\
 & \left. + (1-\lambda)(1-t)(1-r)g(a, c, e) \right] + \frac{1}{8} g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) \\
 & + \frac{1}{8} \left[ \lambda rg\left(b, \frac{cd}{(1-t)c+td'}, f\right) + trg\left(\frac{ab}{(1-\lambda)a+\lambda b'}, d, f\right) + \lambda tg\left(b, d, \frac{ef}{(1-r)e+rf}\right) \right. \\
 & + t(1-\lambda)g\left(a, d, \frac{ef}{(1-r)e+rf}\right) + r(1-\lambda)g\left(a, \frac{cd}{(1-t)c+td'}, f\right) \\
 & \left. + \lambda(1-t)g\left(b, c, \frac{ef}{(1-r)e+rf}\right) + r(1-t)g\left(\frac{ad}{(1-\lambda)a+\lambda b'}, c, f\right) \right. \\
 & + \lambda(1-r)g\left(b, \frac{cd}{(1-t)c+td'}, e\right) + t(1-r)g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, d, e\right) \\
 & + (1-\lambda)(1-t)g\left(a, c, \frac{ef}{(1-r)e+rf}\right) + (1-\lambda)(1-r)g\left(a, \frac{cd}{(1-t)c+td'}, e\right) \\
 & + (1-t)(1-r)g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, c, e\right) \left. \right] + \frac{1}{8} \left[ \lambda g\left(b, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) \right. \\
 & + tg\left(\frac{ab}{(1-\lambda)a+\lambda b'}, d, \frac{ef}{(1-r)e+rf}\right) + rg\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, f\right) \\
 & + (1-r)g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, e\right) + (1-\lambda)g\left(a, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) \\
 & \left. + (1-t)g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, c, \frac{ef}{(1-r)e+rf}\right) \right].
 \end{aligned}$$

*Proof.* Let  $h$  be convex function of three variables on the rectangular box  $= \left[\frac{1}{b}, \frac{1}{a}\right] \times \left[\frac{1}{d}, \frac{1}{c}\right] \times \left[\frac{1}{f}, \frac{1}{e}\right]$ , defined by  $g(s_1, s_2, s_3) = g\left(\frac{1}{s_1}, \frac{1}{s_2}, \frac{1}{s_3}\right)$ ,  $s_1, s_2, s_3 \in \left[\frac{1}{b}, \frac{1}{a}\right] \times \left[\frac{1}{d}, \frac{1}{c}\right] \times \left[\frac{1}{f}, \frac{1}{e}\right]$ , then for  $\lambda, t, r \in [0, 1]$ , we have

$$(i). \quad h\left(\frac{(2-\lambda)a+\lambda b}{2ab}, \frac{(2-t)c+td}{2cd}, \frac{(2-r)e+rf}{2ef}\right)$$

$$\begin{aligned}
 &= h\left(\frac{\frac{1}{b} + (1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}}{2}, \frac{\frac{1}{d} + (1-t)\frac{1}{d} + t\frac{1}{c}}{2}, \frac{\frac{1}{f} + (1-r)\frac{1}{f} + r\frac{1}{e}}{2}\right) \\
 &\leq \int_0^1 \int_0^1 \int_0^1 h\left((1-t_1)\frac{1}{b} + t_1\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}\right), (1-t_2)\frac{1}{d} + t_2\left((1-t)\frac{1}{d} + t\frac{1}{c}\right), \right. \\
 &\quad \left. (1-t_3)\frac{1}{f} + t_3\left((1-r)\frac{1}{f} + r\frac{1}{e}\right)\right) dt_1 dt_2 dt_3 \\
 &\leq \frac{1}{8} \left[ h\left(\frac{1}{b}, \frac{1}{d}, \frac{1}{f}\right) + h\left(\frac{1}{b}, (1-t)\frac{1}{d} + t\frac{1}{c}, \frac{1}{f}\right) h\left(\frac{1}{b}, (1-t)\frac{1}{d} + t\frac{1}{c}, (1-r)\frac{1}{f} + r\frac{1}{e}\right) \right. \\
 &\quad + h\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}, \frac{1}{d}, \frac{1}{f}\right) + h\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}, \frac{1}{d}, (1-r)\frac{1}{f} + r\frac{1}{e}\right) \\
 &\quad + h\left(\frac{1}{b}, \frac{1}{d}, (1-r)\frac{1}{f} + r\frac{1}{e}\right) + h\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}, (1-t)\frac{1}{d} + t\frac{1}{c}, \frac{1}{f}\right) \\
 &\quad \left. + h\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}, (1-t)\frac{1}{d} + t\frac{1}{c}, (1-r)\frac{1}{f} + r\frac{1}{e}\right) \right] \\
 &= \frac{1}{8} \left[ h\left(\frac{1}{b}, \frac{1}{d}, \frac{1}{f}\right) + h\left(\frac{1}{b}, \frac{(1-t)c + td}{cd}, \frac{1}{f}\right) h\left(\frac{1}{b}, \frac{(1-t)c + td}{cd}, \frac{(1-r)e + rf}{ef}\right) \right. \\
 &\quad + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{1}{d}, \frac{1}{f}\right) + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{1}{d}, \frac{(1-r)e + rf}{ef}\right) \\
 &\quad + h\left(\frac{1}{b}, \frac{1}{d}, \frac{(1-r)e + rf}{ef}\right) + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{(1-t)c + td}{cd}, \frac{1}{f}\right) \\
 &\quad \left. + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{(1-t)c + td}{cd}, \frac{(1-r)e + rf}{ef}\right) \right] \tag{3}
 \end{aligned}$$

Similarly

$$\begin{aligned}
 (ii). \quad & h\left(\frac{(1-\lambda)a + (\lambda+1)b}{2ab}, \frac{(2-t)c + td}{2cd}, \frac{(2-r)e + rf}{2ef}\right) \\
 &\leq \int_0^1 \int_0^1 \int_0^1 h\left((1-t_1)\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}\right) + t_1\frac{1}{a}, (1-t_2)\frac{1}{d} + t_2\left((1-t)\frac{1}{d} + t\frac{1}{c}\right), \right. \\
 &\quad \left. (1-t_3)\frac{1}{f} + t_3\left((1-r)\frac{1}{f} + r\frac{1}{e}\right)\right) dt_1 dt_2 dt_3 \\
 &\leq \frac{1}{8} \left[ h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{1}{d}, \frac{1}{f}\right) + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{(1-t)c + td}{cd}, \frac{1}{f}\right) \right. \\
 &\quad + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{(1-t)c + td}{cd}, \frac{(1-r)e + rf}{ef}\right) + h\left(\frac{1}{a}, \frac{1}{d}, \frac{1}{f}\right) \\
 &\quad + h\left(\frac{1}{a}, \frac{1}{d}, \frac{(1-r)e + rf}{ef}\right) + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{1}{d}, \frac{(1-r)e + rf}{ef}\right) \\
 &\quad \left. + h\left(\frac{1}{a}, \frac{(1-t)c + td}{cd}, \frac{1}{f}\right) + h\left(\frac{1}{a}, \frac{(1-t)c + td}{cd}, \frac{(1-r)e + rf}{ef}\right) \right] \tag{4}
 \end{aligned}$$

$$\begin{aligned}
 (iii). \quad & h\left(\frac{(2-\lambda)a + \lambda b}{2ab}, \frac{(1-t)c + (1+t)d}{2cd}, \frac{(2-r)e + rf}{2ef}\right) \\
 &\leq \int_0^1 \int_0^1 \int_0^1 h\left((1-t_1)\frac{1}{b} + t_1\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}\right), (1-t_2)\left((1-t)\frac{1}{d} + t\frac{1}{c}\right) + t_2\frac{1}{c}, \right. \\
 &\quad \left. (1-t_3)\frac{1}{f} + t_3\left((1-r)\frac{1}{f} + r\frac{1}{e}\right)\right) dt_1 dt_2 dt_3
 \end{aligned}$$

$$\begin{aligned}
 &\leq \frac{1}{8} \left[ h\left(\frac{1}{b'}, \frac{(1-t)c+td}{cd}, \frac{1}{f}\right) + h\left(\frac{1}{b'}, \frac{1}{c'}, \frac{1}{f}\right) + h\left(\frac{1}{b'}, \frac{(1-t)c+td}{cd}, \frac{(1-r)e+rf}{ef}\right) \right. \\
 &\quad h\left(\frac{1}{b'}, \frac{1}{c'}, \frac{(1-r)e+rf}{ef}\right) + h\left(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{(1-t)c+td}{cd}, \frac{1}{f}\right) \\
 &\quad + h\left(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{(1-t)c+td}{cd}, \frac{(1-r)e+rf}{ef}\right) \\
 &\quad \left. + h\left(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{1}{c'}, \frac{1}{f}\right) + h\left(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{1}{c'}, \frac{(1-r)e+rf}{ef}\right) \right] \tag{5}
 \end{aligned}$$

$$\begin{aligned}
 (iv). \quad &h\left(\frac{(2-\lambda)a+\lambda b}{2ab}, \frac{(2-t)c+td}{2cd}, \frac{(1-r)e+(1+r)f}{2ef}\right) \\
 &\leq \int_0^1 \int_0^1 \int_0^1 h\left((1-t_1)\frac{1}{b} + t_1\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}\right), (1-t_2)\frac{1}{d} + t_2\left((1-t)\frac{1}{d} + t\frac{1}{c}\right), \right. \\
 &\quad \left. (1-t_3)\left((1-r)\frac{1}{f} + r\frac{1}{e}\right) + t_3\frac{1}{e}\right) dt_1 dt_2 dt_3 \\
 &\leq \frac{1}{8} \left[ h\left(\frac{1}{b'}, \frac{1}{d'}, \frac{(1-r)e+rf}{ef}\right) + h\left(\frac{1}{b'}, \frac{(1-t)c+td}{cd}, \frac{(1-r)e+rf}{ef}\right) \right. \\
 &\quad h\left(\frac{1}{b'}, \frac{(1-t)c+td}{cd}, \frac{1}{e}\right) + h\left(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{1}{d'}, \frac{(1-r)e+rf}{ef}\right) \\
 &\quad + h\left(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{1}{d'}, \frac{1}{e}\right) + h\left(\frac{1}{b'}, \frac{1}{d'}, \frac{1}{e}\right) \\
 &\quad + h\left(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{(1-t)c+td}{cd}, \frac{(1-r)e+rf}{ef}\right) \\
 &\quad \left. + h\left(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{(1-t)c+td}{cd}, \frac{1}{e}\right) \right] \tag{6}
 \end{aligned}$$

$$\begin{aligned}
 (v). \quad &h\left(\frac{(1-\lambda)a+(\lambda+1)b}{2ab}, \frac{(1-t)c+(1+t)d}{2cd}, \frac{(2-r)e+rf}{2ef}\right) \\
 &\leq \int_0^1 \int_0^1 \int_0^1 h\left((1-t_1)\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}\right) + t_1\frac{1}{a}, (1-t_2)\left((1-t)\frac{1}{d} + t\frac{1}{c}\right) + t_2\frac{1}{c}, \right. \\
 &\quad \left. (1-t_3)\frac{1}{f} + t_3\left((1-r)\frac{1}{f} + r\frac{1}{e}\right)\right) dt_1 dt_2 dt_3 \\
 &\leq \frac{1}{8} \left[ h\left(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{(1-t)c+td}{cd}, \frac{1}{f}\right) + h\left(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{1}{c'}, \frac{1}{f}\right) \right. \\
 &\quad h\left(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{1}{c'}, \frac{(1-r)e+rf}{ef}\right) + h\left(\frac{1}{a'}, \frac{(1-t)c+td}{cd}, \frac{1}{f}\right) \\
 &\quad + h\left(\frac{1}{a'}, \frac{(1-t)c+td}{cd}, \frac{(1-r)e+rf}{ef}\right) + h\left(\frac{1}{a'}, \frac{1}{c'}, \frac{(1-r)e+rf}{ef}\right) \\
 &\quad \left. + h\left(\frac{(1-\lambda)a+\lambda b}{ab}, \frac{(1-t)c+td}{cd}, \frac{(1-r)e+rf}{ef}\right) + h\left(\frac{1}{a'}, \frac{1}{c'}, \frac{1}{f}\right) \right] \tag{7}
 \end{aligned}$$

$$\begin{aligned}
 (vi). \quad &h\left(\frac{(1-\lambda)a+(\lambda+1)b}{2ab}, \frac{(2-t)c+td}{2cd}, \frac{(1-r)e+(1+r)f}{2ef}\right) \\
 &\leq \int_0^1 \int_0^1 \int_0^1 h\left((1-t_1)\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}\right) + t_1\frac{1}{a}, (1-t_2)\frac{1}{d} + t_2\left((1-t)\frac{1}{d} + t\frac{1}{c}\right), \right.
 \end{aligned}$$

$$\begin{aligned}
 & (1-t_3)\left((1-r)\frac{1}{f} + r\frac{1}{e}\right) + t_3\frac{1}{e} \Big) dt_1 dt_2 dt_3 \\
 \leq & \frac{1}{8} \left[ h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{1}{d'}, \frac{(1-r)e + rf}{ef}\right) \right. \\
 + & h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{(1-t)c + td}{cd}, \frac{(1-r)e + rf}{ef}\right) \\
 & h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{(1-t)c + td}{cd}, \frac{1}{e}\right) + h\left(\frac{1}{a'}, \frac{1}{d'}, \frac{(1-r)e + rf}{ef}\right) \\
 & + h\left(\frac{1}{a'}, \frac{1}{d'}, \frac{1}{e}\right) + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{1}{d'}, \frac{(1-r)e + rf}{ef}\right) \\
 & \left. + h\left(\frac{1}{a'}, \frac{(1-t)c + td}{cd}, \frac{(1-r)e + rf}{ef}\right) + h\left(\frac{1}{a'}, \frac{(1-t)c + td}{cd}, \frac{1}{e}\right) \right] \tag{8}
 \end{aligned}$$

$$\begin{aligned}
 (vii). & \quad h\left(\frac{(2-\lambda)a + \lambda b}{2ab}, \frac{(1-t)c + (1+t)d}{2cd}, \frac{(1-r)e + (1+r)f}{2ef}\right) \\
 \leq & \int_0^1 \int_0^1 \int_0^1 h\left((1-t_1)\frac{1}{b} + t_1\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}\right), (1-t_2)\left((1-t)\frac{1}{d} + t\frac{1}{c}\right) + t_2\frac{1}{c}, \right. \\
 & \left. (1-t_3)\left((1-r)\frac{1}{f} + r\frac{1}{e}\right) + t_3\frac{1}{e}\right) dt_1 dt_2 dt_3 \\
 \leq & \frac{1}{8} \left[ h\left(\frac{1}{b'}, \frac{(1-t)c + td}{cd}, \frac{(1-r)e + rf}{ef}\right) + h\left(\frac{1}{b'}, \frac{1}{c'}, \frac{(1-r)e + rf}{ef}\right) \right. \\
 & h\left(\frac{1}{b'}, \frac{1}{c'}, \frac{1}{e}\right) + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{(1-t)c + td}{cd}, \frac{(1-r)e + rf}{ef}\right) \\
 & + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{(1-t)c + td}{cd}, \frac{1}{e}\right) + h\left(\frac{1}{b'}, \frac{(1-t)c + td}{cd}, \frac{1}{e}\right) \\
 & \left. + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{1}{c'}, \frac{(1-r)e + rf}{ef}\right) + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{1}{c'}, \frac{1}{e}\right) \right] \tag{9}
 \end{aligned}$$

$$\begin{aligned}
 (viii). & \quad h\left(\frac{(1-\lambda)a + (1+\lambda)b}{2ab}, \frac{(1-t)c + (1+t)d}{2cd}, \frac{(1-r)e + (1+r)f}{2ef}\right) \\
 \leq & \int_0^1 \int_0^1 \int_0^1 h\left((1-t_1)\left((1-\lambda)\frac{1}{b} + \lambda\frac{1}{a}\right) + t_1\frac{1}{a'}, (1-t_2)\left((1-t)\frac{1}{d} + t\frac{1}{c}\right) + t_2\frac{1}{c}, \right. \\
 & \left. (1-t_3)\left((1-r)\frac{1}{f} + r\frac{1}{e}\right) + t_3\frac{1}{e}\right) dt_1 dt_2 dt_3 \\
 \leq & \frac{1}{8} \left[ h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{(1-t)c + td}{cd}, \frac{(1-r)e + rf}{ef}\right) \right. \\
 + & \left. \left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{1}{c'}, \frac{(1-r)e + rf}{ef}\right) + h\left(\frac{1}{a'}, \frac{1}{c'}, \frac{1}{e}\right) \right. \\
 & h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{1}{c'}, \frac{1}{e}\right) + h\left(\frac{1}{a'}, \frac{(1-t)c + td}{cd}, \frac{(1-r)e + rf}{ef}\right) \\
 & + h\left(\frac{1}{a'}, \frac{(1-t)c + td}{cd}, \frac{1}{e}\right) + h\left(\frac{(1-\lambda)a + \lambda b}{ab}, \frac{(1-t)c + td}{cd}, \frac{1}{e}\right) \\
 & \left. + h\left(\frac{1}{a'}, \frac{1}{c'}, \frac{(1-r)e + rf}{ef}\right) \right] \tag{10}
 \end{aligned}$$

Multiply  $\lambda tr$  by (3),  $(1 - \lambda)tr$  by (4),  $\lambda(1 - t)r$  by (5),  $\lambda t(1 - r)$  by (6),  $(1 - \lambda)(1 - t)r$  by (7),  $(1 - \lambda)t(1 - r)$  by (8),  $\lambda(1 - t)(1 - r)$  by (9) and  $(1 - \lambda)(1 - t)(1 - r)$  by (10) and adding the resultant, we have

$$\begin{aligned}
 & \lambda trg\left(\frac{2ab}{(2 - \lambda)a + \lambda b'}, \frac{2cd}{(2 - t)c + td'}, \frac{2ef}{(2 - r)e + rf}\right) \\
 & + (1 - \lambda)trg\left(\frac{2ab}{(1 - \lambda)a + (\lambda + 1)b'}, \frac{2cd}{(2 - t)c + td'}, \frac{2ef}{(2 - r)e + rf}\right) \\
 & + \lambda(1 - t)rg\left(\frac{2ab}{(2 - \lambda)a + \lambda b'}, \frac{2cd}{(1 - t)c + (1 + t)d'}, \frac{2ef}{(2 - r)e + rf}\right) \\
 & + \lambda t(1 - r)g\left(\frac{2ab}{(2 - \lambda)a + \lambda b'}, \frac{2cd}{(2 - t)c + td'}, \frac{2ef}{(1 - r)e + (1 + r)f}\right) \\
 & + (1 - \lambda)(1 - t)rg\left(\frac{2ab}{(1 - \lambda)a + (\lambda + 1)b'}, \frac{2cd}{(1 - t)c + (1 + t)d'}, \frac{2ef}{(2 - r)e + rf}\right) \\
 & + (1 - \lambda)t(1 - r)g\left(\frac{2ab}{(1 - \lambda)a + (\lambda + 1)b'}, \frac{2cd}{(2 - t)c + td'}, \frac{2ef}{(1 - r)e + (1 + r)f}\right) \\
 & + \lambda(1 - t)(1 - r)g\left(\frac{2ab}{(2 - \lambda)a + \lambda b'}, \frac{2cd}{(1 - t)c + (1 + t)d'}, \frac{2ef}{(1 - r)e + (1 + r)f}\right) \\
 & (1 - \lambda)(1 - t)(1 - r)g\left(\frac{2ab}{(1 - \lambda)a + (\lambda + 1)b'}, \frac{2cd}{(1 - t)c + (1 + t)d'}, \frac{2ef}{(1 - r)e + (1 + r)f}\right) \\
 = & \phi(\lambda, t) \\
 \leq & \int_0^1 \int_0^1 \int_0^1 f\left(\frac{ab}{(1 - t_1)a + t_1 b'}, \frac{cd}{(1 - t_2)c + t_2 d'}, \frac{ef}{(1 - t_3)e + t_3 f}\right) dt_1 dt_2 dt_3 \\
 = & \frac{(ab)(cd)(ef)}{(b - a)(d - c)(f - e)} \int_a^b \int_c^d \int_e^f \frac{f(x, y, z)}{x^2 y^2 z^2} dx dy dz \\
 \leq & \frac{\lambda tr}{8} \left[ g\left(b, d, f\right) + g\left(b, \frac{cd}{(1 - t)c + td'}, f\right) \right. \\
 & g\left(b, \frac{cd}{(1 - t)c + td'}, \frac{ef}{(1 - r)e + rf}\right) + g\left(\frac{ab}{(1 - \lambda)a + \lambda b'}, d, f\right) \\
 & + g\left(\frac{ab}{(1 - \lambda)a + \lambda b'}, d, \frac{ef}{(1 - r)e + rf}\right) + g\left(b, d, \frac{ef}{(1 - r)e + rf}\right) \\
 & + g\left(\frac{ab}{(1 - \lambda)a + \lambda b'}, \frac{cd}{(1 - t)c + td'}, f\right) \\
 & \left. + g\left(\frac{ab}{(1 - \lambda)a + \lambda b'}, \frac{cd}{(1 - t)c + td'}, \frac{ef}{(1 - r)e + rf}\right) \right] \\
 & + \frac{(1 - \lambda)tr}{8} \left[ f\left(\frac{ab}{(1 - \lambda)a + \lambda b'}, d, f\right) + g\left(\frac{ab}{(1 - \lambda)a + \lambda b'}, \frac{cd}{(1 - t)c + td'}, f\right) \right. \\
 & g\left(\frac{ab}{(1 - \lambda)a + \lambda b'}, \frac{cd}{(1 - t)c + td'}, \frac{ef}{(1 - r)e + rf}\right) + g(a, d, f) \\
 & + g\left(a, d, \frac{ef}{(1 - r)e + rf}\right) + g\left(\frac{ab}{(1 - \lambda)a + \lambda b'}, d, \frac{ef}{(1 - r)e + rf}\right) \\
 & \left. + g\left(a, \frac{cd}{(1 - t)c + td'}, f\right) + g\left(a, \frac{cd}{(1 - t)c + td'}, \frac{ef}{(1 - r)e + rf}\right) \right] \\
 & + \frac{\lambda(1 - t)r}{8} \left[ g\left(b, \frac{cd}{(1 - t)c + td'}, f\right) + g(b, c, f) \right]
 \end{aligned}$$



$$\begin{aligned}
& g\left(b, c, \frac{ef}{(1-r)e+rf}\right) + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, f\right) \\
& + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) + g\left(b, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) \\
& + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, c, f\right) + g\left(\frac{ab}{(1-\lambda)a\lambda b'}, c, \frac{ef}{(1-r)e+rf}\right) \\
& + \frac{\lambda t(1-r)}{8} \left[ g\left(b, d, \frac{ef}{(1-r)e+rf}\right) + g\left(b, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) \right. \\
& g\left(b, \frac{cd}{(1-t)c+td'}, e\right) + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, d, \frac{ef}{(1-r)e+rf}\right) \\
& + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, d, e\right) + g(b, d, e) \\
& + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) \\
& \left. + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, e\right) \right] \\
& + \frac{(1-\lambda)(1-t)r}{8} \left[ g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, f\right) + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, c, f\right) \right. \\
& + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, c, \frac{ef}{(1-r)e+rf}\right) + g\left(a, \frac{cd}{(1-t)c+td'}, f\right) \\
& + g\left(a, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) \\
& + h\left(a, c, f\right) + g\left(a, c, \frac{ef}{(1-r)e+rf}\right) \\
& \left. + \frac{(1-\lambda)t(1-r)}{8} \left[ g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, d, \frac{ef}{(1-r)e+rf}\right) \right. \right. \\
& + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) \\
& g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, e\right) + g\left(a, d, \frac{ef}{(1-r)e+rf}\right) \\
& + g(a, d, e) + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, d, \frac{ef}{(1-r)e+rf}\right) \\
& \left. + g\left(a, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) + g\left(a, \frac{cd}{(1-t)c+td'}, e\right) \right] \\
& + \frac{\lambda(1-t)(1-r)}{8} \left[ g\left(b, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) + g\left(b, c, \frac{ef}{(1-r)e+rf}\right) \right. \\
& g(b, c, e) + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, \frac{ef}{(1-r)e+rf}\right) \\
& + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, \frac{cd}{(1-t)c+td'}, e\right) + g\left(b, \frac{cd}{(1-t)c+td'}, e\right) \\
& + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, c, \frac{ef}{(1-r)e+rf}\right) \\
& \left. + g\left(\frac{ab}{(1-\lambda)a+\lambda b'}, c, e\right) \right]
\end{aligned}$$

$$\begin{aligned}
 & + \frac{(1-\lambda)(1-t)(1-r)}{8} \left[ g\left(\frac{ab}{(1-\lambda)a + \lambda b'}, \frac{cd}{(1-t)c + td'}, \frac{ef}{(1-r)e + rf}\right) \right. \\
 & + g\left(\frac{ab}{(1-\lambda)a + \lambda b'}, c, \frac{ef}{(1-r)e + rf}\right) \\
 & + g\left(\frac{ab}{(1-\lambda)a + \lambda b'}, c, e\right) + g\left(a, \frac{cd}{(1-t)c + td'}, \frac{ef}{(1-r)e + rf}\right) \\
 & + g\left(a, \frac{cd}{(1-t)c + td'}, e\right) + g\left(\frac{ab}{(1-\lambda)a + \lambda b'}, \frac{cd}{(1-t)c + td'}, e\right) \\
 & \left. + g\left(a, c, \frac{ef}{(1-r)e + rf}\right) + g(a, c, e) \right] \\
 = & \frac{1}{8} \left[ \lambda \operatorname{tr}g(b, d, f) + (1-\lambda) \operatorname{tr}g(a, d, f) + \lambda(1-t) \operatorname{r}g(b, c, f) + \lambda t(1-r) \operatorname{g}(b, d, e) \right. \\
 & + (1-\lambda)(1-t) \operatorname{r}g(a, c, f) + (1-\lambda)t(1-r) \operatorname{g}(a, d, e) + \lambda(1-t)(1-r) \operatorname{g}(b, c, e) \\
 & \left. + (1-\lambda)(1-t)(1-r) \operatorname{g}(a, c, e) \right] + \frac{1}{8} g\left(\frac{ab}{(1-\lambda)a + \lambda b'}, \frac{cd}{(1-t)c + td'}, \frac{ef}{(1-r)e + rf}\right) \\
 & + \frac{1}{8} \left[ \lambda \operatorname{r}g\left(b, \frac{cd}{(1-t)c + td'}, f\right) + \operatorname{tr}g\left(\frac{ab}{(1-\lambda)a + \lambda b'}, d, f\right) + \lambda t \operatorname{g}\left(b, d, \frac{ef}{(1-r)e + rf}\right) \right. \\
 & + t(1-\lambda) \operatorname{g}\left(a, d, \frac{ef}{(1-r)e + rf}\right) + r(1-\lambda) \operatorname{g}\left(a, \frac{cd}{(1-t)c + td'}, f\right) \\
 & + \lambda(1-t) \operatorname{g}\left(b, c, \frac{ef}{(1-r)e + rf}\right) + r(1-t) \operatorname{g}\left(\frac{ad}{(1-\lambda)a + \lambda b'}, c, f\right) \\
 & + \lambda(1-r) \operatorname{g}\left(b, \frac{cd}{(1-t)c + td'}, e\right) + t(1-r) \operatorname{g}\left(\frac{ab}{(1-\lambda)a + \lambda b'}, d, e\right) \\
 & + (1-\lambda)(1-t) \operatorname{g}\left(a, c, \frac{ef}{(1-r)e + rf}\right) + (1-\lambda)(1-r) \operatorname{g}\left(a, \frac{cd}{(1-t)c + td'}, e\right) \\
 & + (1-t)(1-r) \operatorname{g}\left(\frac{ab}{(1-\lambda)a + \lambda b'}, c, e\right) \left. \right] + \frac{1}{8} \left[ \lambda \operatorname{g}\left(b, \frac{cd}{(1-t)c + td'}, \frac{ef}{(1-r)e + rf}\right) \right. \\
 & + t \operatorname{g}\left(\frac{ab}{(1-\lambda)a + \lambda b'}, d, \frac{ef}{(1-r)e + rf}\right) + \operatorname{r}g\left(\frac{ab}{(1-\lambda)a + \lambda b'}, \frac{cd}{(1-t)c + td'}, f\right) \\
 & + (1-r) \operatorname{g}\left(\frac{ab}{(1-\lambda)a + \lambda b'}, \frac{cd}{(1-t)c + td'}, e\right) + (1-\lambda) \operatorname{g}\left(a, \frac{cd}{(1-t)c + td'}, \frac{ef}{(1-r)e + rf}\right) \\
 & \left. + (1-t) \operatorname{g}\left(\frac{ab}{(1-\lambda)a + \lambda b'}, c, \frac{ef}{(1-r)e + rf}\right) \right] \\
 = & \psi(\lambda, t, r).
 \end{aligned} \tag{11}$$

and

$$\begin{aligned}
 \psi(\lambda, t, r) = & \frac{1}{8} \left[ \lambda \operatorname{tr}g(b, d, f) + (1-\lambda) \operatorname{tr}g(a, d, f) + \lambda(1-t) \operatorname{r}g(b, c, f) + \lambda t(1-r) \operatorname{g}(b, d, e) \right. \\
 & + (1-\lambda)(1-t) \operatorname{r}g(a, c, f) + (1-\lambda)t(1-r) \operatorname{g}(a, d, e) + \lambda(1-t)(1-r) \operatorname{g}(b, c, e) \\
 & + (1-\lambda)(1-t)(1-r) \operatorname{g}(a, c, e) + \lambda \operatorname{tr}g(a, c, e) + \lambda(1-t) \operatorname{r}g(a, d, e) \\
 & + \lambda(1-t)(1-r) \operatorname{g}(a, d, f) + (1-\lambda) \operatorname{tr}g(b, c, e) + (1-\lambda)t(1-r) \operatorname{g}(b, c, f) \\
 & + \lambda t(1-r) \operatorname{g}(a, c, f) + (1-\lambda)(1-t) \operatorname{r}g(b, d, e) + (1-\lambda)(1-t)(1-r) \operatorname{g}(b, d, f) \\
 & + \lambda \operatorname{tr}g(b, c, f) + \lambda(1-t) \operatorname{r}g(b, d, f) + \lambda \operatorname{tr}g(a, d, f) + (1-\lambda) \operatorname{tr}g(b, d, f) \\
 & \left. + \lambda \operatorname{tr}g(b, d, e) + \lambda t(1-r) \operatorname{g}(b, d, f) + (1-\lambda) \operatorname{tr}g(a, d, e) \right]
 \end{aligned}$$

$$\begin{aligned}
 &+(1-\lambda)t(1-r)g(a,d,f) + (1-\lambda)trg(a,c,f) + (1-\lambda)(1-t)rg(a,d,f) \\
 &+\lambda(1-t)rg(b,c,e) + \lambda(1-t)(1-r)g(b,c,f) + \lambda(1-t)rg(a,c,f) \\
 &+(1-\lambda)(1-t)rg(b,c,f) + \lambda t(1-r)g(b,c,e) + \lambda(1-t)(1-r)g(b,d,e) \\
 &+\lambda t(1-r)g(a,d,e) + (1-\lambda)t(1-r)g(b,d,e) + (1-\lambda)(1-t)rg(a,c,e) \\
 &+(1-\lambda)(1-t)(1-r)g(a,c,f) + (1-\lambda)t(1-r)g(a,c,e) \\
 &+(1-\lambda)(1-t)(1-r)g(a,d,e) + \lambda(1-t)(1-r)g(a,c,e) \\
 &+(1-\lambda)(1-t)(1-r)g(b,c,e) + \lambda trg(b,c,e) + \lambda t(1-r)g(b,c,f) \\
 &+\lambda(1-t)rg(b,d,e) + \lambda(1-t)(1-r)g(b,d,f) + \lambda trg(a,d,e) + \lambda t(1-r)g(a,d,f) \\
 &+(1-\lambda)trg(a,d,f) + (1-\lambda)trg(b,d,e) + (1-\lambda)t(1-r)g(b,d,f) + \lambda trg(a,c,f) \\
 &+\lambda(1-t)rg(a,d,f) + (1-\lambda)trg(b,c,f) + (1-\lambda)(1-t)rg(b,d,f) \\
 &+\lambda t(1-r)g(a,c,e) + \lambda(1-t)(1-r)g(a,d,e) + (1-\lambda)t(1-r)g(b,c,e) \\
 &+(1-\lambda)(1-t)(1-r)g(b,d,e) + (1-\lambda)trg(a,c,e) + (1-\lambda)t(1-r)g(a,c,f) \\
 &+(1-\lambda)(1-t)rg(a,d,e) + (1-\lambda)(1-t)(1-r)g(a,d,f) + \lambda(1-t)rg(a,c,e) \\
 &+\lambda(1-t)(1-r)g(a,c,f) + (1-\lambda)(1-t)rg(b,c,e) + (1-\lambda)(1-t)(1-r)g(b,c,f) \Big] \\
 = & \frac{g(a,c,e) + g(a,d,e) + g(a,d,f) + g(b,c,e) + g(b,c,f) + g(a,c,f) + g(b,d,e) + g(b,d,f)}{8}.
 \end{aligned}$$

(12)

Also

$$\begin{aligned}
 \phi(\lambda, t, r) = & \lambda trg\left(\frac{2ab}{(2-\lambda)a + \lambda b'}, \frac{2cd}{(2-t)c + td'}, \frac{2ef}{(2-r)e + rf}\right) \\
 &+(1-\lambda)trg\left(\frac{2ab}{(1-\lambda)a + (\lambda+1)b'}, \frac{2cd}{(2-t)c + td'}, \frac{2ef}{(2-r)e + rf}\right) \\
 &+\lambda(1-t)rg\left(\frac{2ab}{(2-\lambda)a + \lambda b'}, \frac{2cd}{(1-t)c + (1+t)d'}, \frac{2ef}{(2-r)e + rf}\right) \\
 &+\lambda t(1-r)g\left(\frac{2ab}{(2-\lambda)a + \lambda b'}, \frac{2cd}{(2-t)c + td'}, \frac{2ef}{(1-r)e + (1+r)f}\right) \\
 &+(1-\lambda)(1-t)rg\left(\frac{2ab}{(1-\lambda)a + (\lambda+1)b'}, \frac{2cd}{(1-t)c + (1+t)d'}, \frac{2ef}{(2-r)e + rf}\right) \\
 &+(1-\lambda)t(1-r)g\left(\frac{2ab}{(1-\lambda)a + (\lambda+1)b'}, \frac{2cd}{(2-t)c + td'}, \frac{2ef}{(1-r)e + (1+r)f}\right) \\
 &+\lambda(1-t)(1-r)g\left(\frac{2ab}{(2-\lambda)a + \lambda b'}, \frac{2cd}{(1-t)c + (1+t)d'}, \frac{2ef}{(1-r)e + (1+r)f}\right) \\
 &(1-\lambda)(1-t)(1-r)g\left(\frac{2ab}{(1-\lambda)a + (\lambda+1)b'}, \frac{2cd}{(1-t)c + (1+t)d'}, \frac{2ef}{(1-r)e + (1+r)f}\right) \\
 = & \lambda trh\left(\frac{(2-\lambda)a + \lambda b}{2ab}, \frac{(2-t)c + td}{2cd}, \frac{(2-r)e + rf}{2ef}\right) \\
 &+(1-\lambda)trh\left(\frac{(1-\lambda)a + (\lambda+1)b}{2ab}, \frac{(2-t)c + td}{2cd}, \frac{(2-r)e + rf}{2ef}\right) \\
 &+\lambda(1-t)rh\left(\frac{(2-\lambda)a + \lambda b}{2ab}, \frac{(1-t)c + (1+t)d}{2cd}, \frac{(2-r)e + rf}{2ef}\right)
 \end{aligned}$$

$$\begin{aligned}
 & +\lambda t(1-r)h\left(\frac{(2-\lambda)a+\lambda b}{2ab}, \frac{(2-t)c+td}{2cd}, \frac{(1-r)e+(1+r)f}{2ef}\right) \\
 & +(1-\lambda)(1-t)rh\left(\frac{(1-\lambda)a+(\lambda+1)b}{2ab}, \frac{(1-t)c+(1+t)d}{2cd}, \frac{(2-r)e+rf}{2ef}\right) \\
 & +(1-\lambda)t(1-r)h\left(\frac{(1-\lambda)a+(\lambda+1)b}{2ab}, \frac{(2-t)c+td}{2cd}, \frac{(1-r)e+(1+r)f}{2ef}\right) \\
 & +\lambda(1-t)(1-r)h\left(\frac{(2-\lambda)a+\lambda b}{2ab}, \frac{(1-t)c+(1+t)d}{2cd}, \frac{(1-r)e+(1+r)f}{2ef}\right) \\
 & (1-\lambda)(1-t)(1-r)h\left(\frac{(1-\lambda)a+(1+\lambda)b}{2ab}, \frac{(1-t)c+(1+t)d}{2cd}, \frac{(1-r)e+(1+r)f}{2ef}\right) \\
 \geq & h\left((1-\lambda)\left(\frac{(1-\lambda)a+(1+\lambda)b}{2ab}\right) + \lambda\left(\frac{(2-\lambda)a+\lambda b}{2ab}\right), \right. \\
 & (1-t)\left(\frac{(1-t)c+(1+t)d}{2cd}\right) + t\left(\frac{(2-t)c+td}{2cd}\right), \\
 & \left. (1-r)\left(\frac{(1-r)e+(1+r)f}{2ef}\right) + r\left(\frac{(2-r)e+rf}{2ef}\right)\right) \\
 = & h\left(\frac{a+b}{2ab}, \frac{c+d}{2cd}, \frac{e+f}{2ef}\right) = g\left(\frac{2ab}{a+b}, \frac{2cd}{c+d}, \frac{2ef}{e+f}\right) \tag{13}
 \end{aligned}$$

From (11)-(13), we obtained the desired inequality  $\square$

**Corollary 2.3.** Let  $g : \Delta = [a, b] \times [c, d] \times [e, f] \subset \mathbb{R}^3 \setminus \{0\} \rightarrow \mathbb{R}$  be harmonic convex function of three variables on the rectangular box. Then for any  $\lambda, t, r \in [0, 1]$ , we have

$$\begin{aligned}
 g\left(\frac{2ab}{a+b}, \frac{2cd}{c+d}, \frac{2ef}{e+f}\right) & \leq \phi(\lambda, t, r) \\
 & \leq \frac{(ab)(cd)(ef)}{(b-a)(d-c)(f-e)} \int_a^b \int_c^d \int_e^f \frac{g(x, y, z)}{x^2 y^2 z^2} dx dy dz \\
 & \leq \psi(\lambda, t, r) \\
 & \leq \frac{1}{8} \left[ g(a, c, e) + g(a, d, e) + g(a, d, f) + g(b, c, e) + g(b, c, f) \right. \\
 & \quad \left. + g(a, c, f) + g(b, d, e) + g(b, d, f) \right]
 \end{aligned}$$

where

$$\begin{aligned}
 \phi(\lambda, t, r) & = \frac{1}{8} \left[ g\left(\frac{4ab}{3a+b}, \frac{4cd}{3c+d}, \frac{4ef}{3e+f}\right) + g\left(\frac{4ab}{a+3b}, \frac{4cd}{3c+d}, \frac{4ef}{3e+f}\right) \right. \\
 & + g\left(\frac{4ab}{3a+b}, \frac{4cd}{c+3d}, \frac{4ef}{3e+f}\right) + g\left(\frac{4ab}{3a+b}, \frac{4cd}{3c+d}, \frac{4ef}{e+3f}\right) \\
 & + g\left(\frac{4ab}{a+3b}, \frac{4cd}{c+3d}, \frac{4ef}{3e+f}\right) + g\left(\frac{4ab}{a+3b}, \frac{4cd}{3c+d}, \frac{4ef}{e+3f}\right) \\
 & \left. + g\left(\frac{4ab}{3a+b}, \frac{4cd}{c+3d}, \frac{4ef}{e+3f}\right) + g\left(\frac{4ab}{a+3b}, \frac{4cd}{c+3d}, \frac{4ef}{e+3f}\right) \right].
 \end{aligned}$$

and

$$\psi(\lambda, t, r) = \frac{1}{64} \left[ g(b, d, f) + g(a, d, f) + g(b, c, f) + g(b, d, e) + g(a, c, f) \right]$$

$$\begin{aligned}
& +g(a, d, e) + g(b, c, e) + g(a, c, e) \Big] + \frac{1}{8}g\left(\frac{2ab}{a+b}, \frac{2cd}{c+d}, \frac{2ef}{e+f}\right) \\
& + \frac{1}{32}\left[g\left(b, \frac{2cd}{c+d}, f\right) + g\left(\frac{2ab}{a+b}, d, f\right) + g\left(b, d, \frac{2ef}{e+f}\right) + g\left(a, d, \frac{2ef}{e+f}\right)\right. \\
& + g\left(a, \frac{2cd}{c+d}, f\right) + g\left(b, c, \frac{2ef}{e+f}\right) + g\left(\frac{2ad}{a+b}, c, f\right) + g\left(b, \frac{2cd}{c+d}, e\right) \\
& + g\left(\frac{2ab}{a+b}, d, e\right) + g\left(a, c, \frac{2ef}{e+f}\right) + g\left(a, \frac{2cd}{c+d}, e\right) + g\left(\frac{2ab}{a+b}, c, e\right) \Big] \\
& + \frac{1}{32}\left[g\left(b, \frac{2cd}{c+d}, \frac{2ef}{e+f}\right) + g\left(\frac{2ab}{a+b}, d, \frac{2ef}{e+f}\right) + g\left(\frac{2ab}{a+b}, \frac{2cd}{c+d}, f\right)\right. \\
& \left. + g\left(\frac{2ab}{a+b}, \frac{2cd}{c+d}, e\right) + g\left(a, \frac{2cd}{c+d}, \frac{2ef}{e+f}\right) + g\left(\frac{2ab}{a+b}, c, \frac{2ef}{e+f}\right)\right].
\end{aligned}$$

### Acknowledgements

The authors are thankful to the editor and the anonymous reviewers for their valuable comments and suggestions. This research was supported by HEC Pakistan under project 8081/Punjab/NRPU/R&D/HEC/2017.

### References

- [1] G. D. Anderson, M. K. Vamanamurthy and M. Vuorinen, *Generalized convexity and inequalities*, J. Math. Anal. Appl. **335** (2007), 1294-1308.
- [2] M. K. Bakulla, *An improvement of the Hermite-Hadamard inequality for functions convex on the coordinates*, Austr. J. Math. Anal. Appl. **11**(1) (2014), Art. 3, 1-7.
- [3] F. Chen, *A note on the Hermite-hadamard inequality for convex functions on the co-ordinates*, J. Math. Inequal. **8**(4) (2014), 915-923.
- [4] S.S. Dragomir, *On the Hadamard's inequality for convex function on the co-ordinates in a rectangle from the plane*, Taiwanes J. Math. **5**(4) (2001), 775-788.
- [5] S.S. Dragomir, *Inequalities of Hermite-Hadamard type for HA-convex functions*, Preprint RGMIA Res. Rep. Coll. 18(2015), Art. 38. [<http://rgmia.org/papers/v18/v18a38.pdf>].
- [6] I. Iscan, *Hermite-Hadamard type inequalities for harmonically convex functions*, Hacettepe, J. Math. Stats. **43**(6) (2014), 935-942.
- [7] M. A. Latif and S.S. Dragomir, *On some new inequalities for differentiable co-ordinated convex functions*, J. Inequal. Appl. **2012** (2012), 28.
- [8] C. P. Niculescu and L. E. Persson, *Convex functions and their applications*, Springer-Verlag, New York, 2006.
- [9] M. A. Noor, K. I. Noor and M. U. Awan, *Integral inequalities for co-ordinated harmonically convex functions*, Complex Var. Elliptic Equat. **60**(6) (2015), 776-786.
- [10] M. A. Noor, K. I. Noor, S. Iftikhar and C. Ionescu, *Hermite-Hadamard inequalities for co-ordinated harmonic convex functions*, U.P.B. Sci. Bull., Series A **79**(1) (2017), 25-34.
- [11] M. E. Ozdemir, H. Kavurmaci, A. O. Akdemir and M. Avic, *Inequalities for convex and s-convex functions on  $\Delta = [a, b] \times [c, d]$* , J. Inequal. Appl. **2012** (2012), 20.
- [12] M. E. Ozdemir, X. Yildiz and A. O. Akdemir, *On some new Hadamard-Type-inequalities for co-ordinated quasi-convex functions*, Hecet. J. Math. Stat. **41**(5) (2012), 697-707.
- [13] J. Pecaric, F. Proschan and Y. L. Tong, *Convex sunctions, partial orderings and statistical applications*, Academic Press, New york, 1992.